TX2R I EL& B IE RS
BaitxX, H&%E -, TEEEAHAE300 mm
FitPERIP67

e

o HiHEEE O 16 mm

o [inaEgy IP67

o fiHIFEMmK, MARNMHSGE, BITIRET % 5000 J5 IRig5)
° SPERMET 0.01 mm

o MRS, 1k £0.05%

o ERTWIR, M5, KAEEEBLIEE

o ] L g sk g T K

novotechnik

Siedle Group

Rkt A A DI SE m . G R R A AR B 4 i
SR TEZEAORUE B AT I, BRI A, ENE, A &, WA
Bedin BB I T RE AT 5 TAE, TR LR F KR %
B, RERNE A LR AR RS AR BT e B R R Sk R
I LA

HERMWERSE, Wi/ AEEARE, R+, %
JEAE— vl B AT ETA 22 L S WAH R TEX ™ i BT

|

o5 [GEEER A

73 S|

EOAN ANEEHN(1.4305), WIHER:, MSYMEREL
LTS BeL v i

BT SR

R B8 2 A A

ML BEHM8x1 Bl i I

4WPURBEBCHLEE, 4x0.14 mm2, K2k




novotechnik

18

Siedle Group
31 min
31,1 min. 2000410
26
'ﬁl\ ’f+\
10 min @ 10 min @ N
\.J vl 8 sl;—‘ hﬁ/ g
l_' ° w ©|
o~ o« ||
2 2
= 13 13
31! min
3 o]
o — 1. :QJ
- S 1‘_& 0 ”
3 - 3 = ¢/
I
|
—l _ 11
l S -
M5 x 20 1S0 4762
M5x20 IS0 4762 e
| A 41 Nm | HHHE: 41 Nm
e <
[m]
=TT ¢
[ =fF =
E i |
£ ®16
w
)
I
®5 : @5
U w]
o
M5 M5




novotechnik

Siedle Group

BEEN >2 X2 ™>2 X2 >2 X2 >X2 >X2

0025 0050 0075 0100 0150 0200 0250 0300
BSSH BT
AR 25 50 75 100 150 200 250 300 mm
AT 27 52 77 102 155 205 255 305 mm
it B 1 2 3 4 6 8 10 12 kQ
BELAE 2 7% 20 +%
ST 2t 0.2 0.1 0.1 0.1 0.05 0.05 0.05 0.05 +%
DES°R:1 0.01 mm
R IE 3 AR I <1 LA
SR 8 R P 5 K LIS 10 mA
FeiFfc Rk TAEH 42 \
it R R S A R A R0 R AL W5 ppm/K
#aZ B (500 VDO) >10 MQ
HZE RN (500 VAC, 50 Hz) <100 A
WS
ShseE (RSFA) 86 111 136 161 224 274 324 374 + 1 mm
BLikiTR: (R1B) 30 55 80 105 158 208 258 308 +1mm
Hitem s R (R D) 30 50 70 90 140 190 240 290 mm
e S MABE (RFE) 15 20 25 25 35 35 35 35 mm
N
HifEJs (101) 100 110 120 130 150 163 190 205 g
W gg (202) 120 156 160 177 190 225 250 270 g
TAeZh
ARFT T
T 1 7 1f) <5 (fERT = 20 °CIi)
JAShL K15 ()
WESH
AR A Hedfids: -40 ... +85; gL 20 ... +100 °C
AL 0... 95 (Jer k) % R.H.
DiRB bR 5 ... 2000 Hz

Armex = 0.75 mm

Amax = 20 9
uipdi bRk 50 g

6 ms
Hi il >50 x 10° w
e Kig 7 5 m/s
Bl 1% % IP67 DIN EN 60529 (i FHIP67 5k 5 5 52 4% 1t 4 3%)

AR B 4715 24 1P67 ZAEDIN EN 605298125 T B4
FAEUKRITK, Bi00.5/0 0,
AEATRD 1 7 B TR SR T, AT s B ek sl A PTG . O A 7 i i e 2 F

*) ARSI L 2 MR ER SR B AR i L A T A TR (KT 15N)



1T A& 5L AR

IEERER
0025mm % 0300mm

BeEN
002: ettt

BSERE
101: SfFMBx1IEH S, ik il
202: NThruE2RMLEE, 2kl

-0 0 2 -2 0 2

Dk
7o KHRF

HUHE ShAT
1 AR SANRRLAT Al MO ZL

7 HRHIAT, 1P67

RXENBEE
o 24K, 24 M5x20 1R

G

PUR HL4i, 4 3 £ M8x1 IMHE £z, 3x0.34mme, P67, ANHEBtkk
o 2kMmigi, ME. EEM33-64, MEh4mS: 005617

o 5kHdE, MS. EEM33-66, M4
o 102k, MS. EEM33-68, Mm%

PUR HL85, #F 3 £ M8x1 M H:k, 3x0.34 mm2, P67, Aatbikk
o 2kmigdy, M. EEM33-65, fthhgwS
o 5ok, M. EEM33-67, MMdmS
o 10k, M5, EEM33-69, r=Hhiws

AT TR S ) A B R LB

o FREHk Z-301-M5/M5
o EBRARHEJ Z-GO1

o RRFEHIE A MAP L,

: 005619

: 058002
: 056014

30,5
16.5

: 005643 EEM 33-64 EEM 3365

novotechnik

Siedle Group

LR

Jo T ER e LR T %
i 2 Ty, SRR PR AR R
FURLAT RS 2 75 L ASFAT 7™
BESEFOALAR I BR IR 22, fd % &
WRE R,

FEEM
15804 2% b Bir 51 i & 1
. MR, EkTEE, i
AT HE B A 43 e 1 2K A I
BRCERAE, Rk Ay TR
PL3g SO 2346 A v e it 2%
o RS AR, LA A
W (e <1uA) IS Y,

I

: 005618 2:—'%? igfogzﬁ iﬁi?ﬁ /-667-68/-65/ -67 / -69
: 005620 1 2 kit
. 005644 9 4 Bt e

£ 3 ot Wi

o [EEEEHME MUP .../ MUK ... TAEH)E 24V, FRdEfs S

© 02/2014

AR,
A SITEA,



